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Lesson 8 - Quiz Questions 

Balanced Hands & Transfers 
1 Partner has opened 1NT. What do you bid as responder with these 

 hands? 

 

 

 

 

 

 

 

 

 

 

2 Your partner had opened 1 NT.  Your RHO (right hand opponent) passes.  What do 

 you respond with these hands?  

 

a)  9 8 5 4         b)   J 5            c)   K Q 8 2                     d)     A Q 4 3 

      K 7 5                             A J 9 7 3                    A Q 8 4                          K 6 

      2                   Q 8 4                     2                           Q 8 7 3 

      A J 8 4 3              8 5 3              T 9 7 6                J 7 2 

 

 

e) Q J 4          f)   K 2  g)   A Q T 9 4 3              
      A 7 2                              A 8 4              8                  

      A 8 6 4                               A 9 5 2                A 8 7    

      T 9 5                  Q T 6 5                 K 8 7 

 

 

 

4 What is the difference between a Natural and a Conventional bid? 

b)   T 9 8   

        A K 9 7 5           

       J 5 4               

       8 2  

  

 

 

 

a)  A J 9 8 7          

      K 7 5                            

      2                  

      A J 8 4         

 

c)   A Q T 6 5            

       8 7                  

       A 7 8    

       J 9 6     

 

g)    8 6 5               
        A K Q T 9                 

        Q 8 6      

        Q J 9  
 

d)   Q 6 5  

       A K 7 5 4 3 

       K T   

       Q 4  
 

e)  J 9 7 6 3          
      8 4 3                 

      K 6    

      J 8 4   

 
 

f)   A K T 9 7    
      A Q              

      T 9 5 4           

      J 8 7            
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5 The bidding has gone as follows:   

 Opener   Responder 

 1 NT     2       

  2      ? 

  

What is Responder’s rebid holding each of the hands below? 

 

 

 

 

 

 

 

 

 

 

6 Partner opens 1NT. Responder’s Right hand opponent bids 2  

 What is your bidding plan holding these THREE hands  

 

 

 

b)   A K Q 4 3 

        T           

      A K 8 6 3              

       T 7 5  

 

 

a) A Q 9 7 2           

.    K J 5 3                                

      A 6 5             

      T        

  

c)   A Q T 6 5            

       8 7                  

       A 7 8    

       J 9 6     

 

g)    A K J T 9                              

        8 6                 

        Q 8 6      

        J T 9  
 

d)  A K 7 5 4 3      

       Q 6 5 

       K T   

       Q 4  

 

e)  J 9 7 6 3          
      8 4 3                 

      K 6    

      J 8 4   

   
 

f)   A K T 9 7   
      A Q              

      T 9 5 4          

      J 8 7         

   
 

a)  K J 9 8 2          b) 9     c)   -  

       5 2                                             K Q 9 8 4 2        K 8 4  

       9 3                   A K 9          A K J 9 8 6         

       J 7 5 2                   A 4         7 5 2      
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7 Look at the bidding sequence below. What should Opener bid holding 

the hands below? 

 

  Opener   Responder  

  1NT   Pass  2   Pass 

  2   Pass  3 NT  Pass 

  ? 

 

     a)  K 8 6 4 2           b)   A Q T 4   

             A Q 8                                                                              K 9                        

             9 3                   Q T 9     

             A J 5                   Q J 7 5    

      

8  Your partner opens 1NT.  What do you as Responder bid with the following?  

RHO passes. 
 

a)     K T 9 6 5 4          b)   A T 8 4 3 2  

                   A 7 3                                                               7 6 3 2                       

                   9                    T 9     

                   A Q 5                   J  

 

9  The bidding has gone as follows (1NT from your partner Opener , 2 from 

you responder). What is your second bid with the following hands? 

 

 1 NT   Pass   2   Pass 

 2   Pass   ? 

 

a)  9 8 3        b)   A 4 3            c)   9 7                  d)      K 6 

       Q T 9 6 5 3                  K J T 7 5                    A K J 5 3 2             K Q 9 8 7 

       7                                6                      T 5                 J 8 7 

       A Q 5                T 9 7 5             Q J 3                Q 9 7  
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10 What do you, Responder bid on the following if the bidding goes 1 NT, 

followed by a 2 from your RHO? 

  

a)   K 8 3 2           b)   A   

        A Q 8 2                                                                K Q T 9 8 4                       

        9                   A Q 9 5     

        9 8 6 3                   J T  

 

 

 

 

  


